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Please read the instruction carefully you are allotted 5 minutes specifically for this purpose.

INSTRUCTION TO CANDIDATE

TIME: 2 Hrs.

MM : 240

The Test Booklet consists of 60 questions.

There are Six parts in the question paper A,B,C,D,E,F
consisting of Mental Ability (10 questions), Physics, (10
question) Chemistry (10 questions),Biology (10
question), and Mathematics (10 questions), SST having
10 questions. Each question is allotted 4 (Four) marks for
correct response.

There is No Negative Marking

Use Blue/Black Ball Point Pen only for writing particulars
/marking responses on the Answer Sheet. Use of pencil is
strictly prohibited.

No candidate is allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone
any electronic device etc, except the Identity Card inside
the examination hall/room.

Rough work is to be done on the space provided for this
purposein the Test Booklet only.

On completion of the test, the candidate must hand over
the Answer Sheet to the invigilator on duty in the
Room/Hall. However, the candidate are allowed to take
away this Test Booklet with them.

Do not fold or make any stray marks on the Answer
Sheet.
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PART A - MAT

01.  Find the missing term in the given series. 01. <1 AT s/@ell 4 i ug = BIfor |
1775,15X4, 13V3,7,9R1 1775,15X4, 13V3,7,9R1
(A) 1182 B)11T2 (A) 1182 (B)11T2
(O1102 (D) 11T3 O11u2 (D) 11T3

02.  Find the missing term in the given series. 02. <1 AT Sl § W ug = I |
ACE, BDF, CEG? ACE, BDF, CEG?
(A) DFE (B) DBF (A) DFE (B) DBF
(C) DFH (D) DEH (C) DFH (D) DEH

03. ‘If “air’ is called ‘green’, ‘green’ is called ‘blue’, 03. Al ‘A ®I B BB ST ©, BA DI AT
‘blue’ is called ‘sky’, “sky’ is called ‘yellow’, ‘yel- BT WAl B, el Bl MBI BT ST T,
low’ is called ‘water’ and ‘water” is called “pink’ “JMBIE Bl “UTAT HEl SIal &, ‘Uil Bl “Slel”
then what is the colour of clear ‘sky” ? HE AT & 3R T’ Pl sl ol & “T[AM!

DBT STl & <l At “3ITEAR DI T a4 87°

(A) Sky (B) Water (A) 3IThrer (B) U
(C) Blue (D) Yellow (C) iretr (D) YreT

04. T is the son of P. S is the son of Q. T is married to 04. T,PAT YA S S,QPT YA & | Tl faars R & 831
R. R is Q’s daughter. How is S related to T ? TIRQ® aI 21 S,T ¥ fobw bR Hefdd 872
(A) Brother (B) Uncle (A) ATS (B) @rar
(C) Father-in-law (D) Brother-in-law (C) AHR (D) 95135

05. Amit walked 30 metres towards East, took a right 05. 31T gd @1 3R 30 HIeR Frell, d8T U a1V gl 3iR
turn and walked 40 metres. Then he took a left 40 AieX =l | fhr g8 arl 31k g7 3R 30 e
turn and walked 30 metres. In which direction is T | IRRe fdg & 3@ a8 Ty fwm 4 87
he now from the starting point?
(A) North-cast (B) East (A) STR—qd (B) gd
(C) South-east (D) South (C) sferoT—qd (D) <feror

06. A man walks 30 metres towards South. Then, 06. U JATSHT TIETOT BT 3R 30 Hiex Terar | e, a8
turning to his right, he walks 30 metres. Then, 3T |IfR=T 3R dSDN 30 Hiex gerar o | TR a8
turning to his left, he walks 20 metres. Again, he IR IR SN 20 Hiex gorar & | I8 foR 9 978
turns to his left and walks 30 metres. How far is AR Hedl & 3R 30 e gadl & I8 AU
he from his initial position ? JIRME Rerfar 9 el g3 87
(A) 20 metres (B) 30 metres (A) 20 #iex (B) 30 #HIex
(C) 60 metres (D) None of these (C) 60 HIex (D) 398 ¥ P &
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07. In a group of six children, Q is taller than P but not 07. ©E dedi D e #, Q,P ¥ ofdr &, cifdhd L far
as tall as L. M is taller than N and O, but not as aT 81 7 1 MUN 3R O 9 &4T ®, elfde P forar
tall as P. Who is the shortest among them ? a1 T8l B 1 S W e BICT diF 87
(A) N (B) O (A) N (B) O
OM (D) Data inadequate OM (D) Data inadequate
08.  Sam ranked ninth from the top and thirty-cighth | 08. &9 TP dell § FUR A A9 3R 71 A 3rscd™d
from the bottom in a class. How many students WM W & | $&1 # fhd B 87
are there in the class?
(A) 45 (B) 46 (A) 45 (B) 46
(C) 47 (D) 48 (C) 47 (D) 48
09. Five boys A, B, C, D and E are standing in a line. 09. Ufd asd A, B, C, D3R E & dfdd # @S T
A is taller than E but shorter than D. B is shorter AE ¥ <1 ¢ oiféd DY BieT 2| BEY Bl ©
than E and C is the tallest. Who is in the middle? 3R C \e¥ ofd1 © 1§19 ¥ B 87
(A) A (B) C (A) A (B) C
(©D D)E ©D (D) E
10. Select the correct mirror image of the given fig- 10. CIRIFS 3MThfd B Hel U Bfd BT T B |
ure. R ST@%
Question figure -
| =
& &
Y
Answer figure TR MPFA
[ |
(A) eg (B) (A) eg (B)
(©) @ (D) ©) (D)
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PART B - PHYSICS

11. When an object undergoes acceleration : 11. S PIE aeq v ki W &
(A) Its speed always increases (A) DT I W dad) 38l &
(B) Its velocity always increases (B) SH®DI T BHIM Sl 38dT &
(C) It always falls towards the earth (C) 75 Had gedl ol 3R FRem &
(D) A force always acts on it (D)) S WX U U gl b1 PRl &
12. How many dynes are equal to 1 N? 12. IN & SRR e 813 81 87
(A) 10° (B) 10* (A) 10° (B) 10*
(C) 10° (D) 10° (©)10° (D) 10°
13. Force per unit area is called : 13. Tl SIS &Fhel UR T dlel 9l ol 8T STl & —
(A) Energy (B) Work (A) St (B) EgR
(C) Pressure (D) Thrust (C) &9 (D) SR
14. A force has : 14. U el § —
(A) Magnitude only (A) Dael aRHTIT
(B) Direction only (B) wac feam
(C) both magnitude and direction (C) ufRmmor iR feem <=
(D) None of these (D) g4 ¥ BIg el
15. If a force of 100 N acts on an area of 10 m’, the 15. IfE 10m’ & &3 TR 100N DT el D Bl &,
pressure equal : Tl S47d SR1ER BRI
(A) 100 N/m’ (B) 10 N/m’ (A) 100 N/m’* (B) 10 N/m’
(C) 1000 N/m’ (D) 1000 Nm® (C) 1000 N/m’ (D) 1000 Nm®
16. Rolling friction is. 16. drefe gy 87
(A) Greater than sliding friction (A) Wil =vor & srfern
(B) Less than sliding friction (B) wdl 9T | &H
(C) Equal to sliding friction (C) w4l =y & RIER
(D) None of these (D) &4 ¥ &g el
17. Friction is minimised by using, 17. fdd WA | v BIaT 87
(A) Wheels and ball berings (A) UV iR dfer safar
(B) More number of tyres in a car (B) PR # TRIRT & 31fdrer e
(C) Rough surface © W adg
(D) None of these (D) g4 ¥ BIg -Tel
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18. Does friction depend on the nature of surface. 18. FIT °GUY A DI UPHic R R PRar 87

(A) Yes (B) No (A) & (B) el

(C) Can not say (D) None of these (C) 7IET B8 Adhd (D) S8 ¥ PIs a8l
19. What is the use of lubricants? 19. 18D BT R SUANT 87

(A) Increase friction (B) Increase roughness (A) B9 §GTY (B) GRERTU d@IdT gl

(C) Reduce friction (D) None of these (C) 0T B B (D) $TH & PI$ &l
20. We can reduce friction to zero ? 20. AT & =T P LA dP PH IR P 87

(A) Yes (B) No (A) & (B) &l

(CO)A&B (D) None of these (©)ASRB (D) & | I el
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PART C - CHEMISTRY

21. Hydrocarbons contain : 21. ESET’FITST:T ¥ e -
(A) Carbon and Hydrogen (A) B 3R BESIoH
(B) Carbon and Oxygen (B) PIa+ 3R 3ffairor
(C) Carbon and Nitrogen (C) B1E- iR Ao
(D) Carbon and Carbon dioxide (D) PTE 3R HE SIS
22. Natural gas mainly contains : 22. FI'@f%I—cF i # =g =y NEUIEE R
(A) Propane (B) Butane (A) "IU4 (B) &g
(C) Methane (D) Ethane (C) HH (D) U+
23, Petroleum is refined by : 23, UgIferad &l yRehd fdsam Sirdr 8—
(A) Simple distillation (A) | 3MHaA
(B) Fractional distillation (B) 331 3mde
(C) Destructive distillation (C) ¥STdh A
(D) None of the these (D) 3774 W Dl ol
24. Producer gas contains 24, UrsgHR 9 H e &
(A) Nitrogen and carbon monoxide (A) TEGIOH 3R B AFRITTASS
(B) Hydrogen and nitrogen (B) BIgSIo iR ATZgIoM
(C) Nitrogen and carbon dioxide (C) SIS 3R Bl SE:AaArss
(D) Hydrogen and carbon dioxide (D) BTSploM 3R PE- SIS S
25. Biogas mainly contains : 25. I # & 4 I e B
(A) Producer gas (B) Coal gas (A) Eﬁ?ﬂ{\’ﬁ' Rkl (B) PIIT I
(C) Water gas (D) Methane (C) daTex 4 (D) W
26. The metal which is soft and can be cut with a knife 26. g T Sl IR Bl & IR ATdy, | DI ST Hebel)
Is - 2 T8 8-
(A) Zinc (B) Copper A) o (B) T
(C) Sodium (D) Magnesium (C) Wz (D) H=Niferm
27. The metal which does not react with air :- 27. EERCIIS S aryg & AT IIAhAT & B & | —
(A) Sodium (B) Calcium (A) arfeaw (B) dfezr
(C) Gold (D) Aluminium (C) | D) Qﬁ’{ﬁﬁ'ﬂ":{
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28. The non-metal which is liquid at room temperature 28 TG AT Sl PN &P dI99 9¥ €9 Bidl B—
Is -
(A) TR REINE
(A) Chlorine (B) Fluorine
STHI D) 3mareH™
(C) Bromine (D) lodine © D)
29. Which of the following can be beaten into thin 2. Freferiad # <1 foowt e Taelt e o o
sheets? bl 87
(A) Zinc (B) Phosphorus (A) o (B) BRI
(C) Sulphur (D) Oxygen o
(C) Hewr O EIENISE!
30. Corrosion is a — . N
30. NHETIRYT —
(A) Reduction reaction A
(B) Oxidation reaction (A)
(C) Redox reaction (B) 3fferiter=or Jffcha
(D) Displacement reaction (C) 3NTFATBRT — uTd= 3MHfhy
(D) favemmust arfafea
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PART D - BIOLOGY

31. What is the process of preparing soil for crop 31 e ST & o fgl IR &= &) Ufshan
production called? FT HEATH B2
(A) Planting (B) Watering (A) Rgop (B) U QAT
(C) Tilling (D) Harvesting (C) ST (D) ®CTS
32. Which of the following is a method of irrigation? 32 fraferRad & & o9 9 Riarg @ e fafey 87
(A) Rainwater harvesting (B) Sprinkler system (A) T STl Haa (B) TorS®Td goITed!
(C) Drip irrigation (D) All of the above (©) fsu R (D) SURRH T
33. What is the purpose of crop rotation in agriculture? 33 @fﬁ H B U>h Ph I T 27
(A) To increase crop vield (A) By 3T UgTaR de™ @ forv
(B) To reduce soil fertility (B) ! @1 IdRAT HF A @ fely
(C) To control pests and discases (C) ®ict AR SRl &t R o= & forw
(D) To conserve water (D) STcT FR&TUT AT
34. What is the term for the process of protecting crops 34. BT Bl PIC 3R dTHINGT W 2979 B UiehaT ol
from pests and discases? T BB &7
(A) Crop rotation (B) Irrigation (A) BE TUsh (B) arg
(C) Fertilization (D) Crop protection (C) SIRB (D) W et
35, Which of the following is a type of fertilizer? 35 f=ferRaa 5 & P19 91 SRe BT Udh UdRN &2
(A) Organic (B) Inorganic (A) BB (B) SrpTeifay
(C) Natural (D) Chemical (C) Wi (D) AT
36. What is the purpose of pruning in agriculture? 36. @fﬁ H PIc—Bic BT I FT 27
(A) To increase crop yield (A) B BT USTaR dg™ & forg
(B) To reduce crop yield (B) WA ®I UGTAR BH B & fTU
(C) To promote healthy plant growth (C) eI URll & fadr &l gerar <A
(D) To control pests and discases (D) dIci 3R dHRAl &1 R &= @ forg
37. Which of the following microorganisms is beneficial 37. frfeRaa 4 9 @9 |1 gedolla 999 & forg
to humans? AETI® 67
(A) Virus (B) Bacteria (A) dRRYE (B) daciRar
(C) Fungus (D) All of the above (C) Pad (D) SURIH T
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38. What is the term for the process by which 38. T UihaT Bl AT Bec & o GIRT AT G bl
microorganisms convert milk into yogurt? <81 9 yRafda a=a g?
(A) Fermentation (B) Pasteurization (A) T (B) tlT%@\f‘ﬁ—ch_{UT
(C) Sterilization (D) Purification (C) TR (D) &
39. Which of the following diseases is caused by a virus? 39. frferRad § | @ A1 T IRRE & HR BIl 57
(A) Tuberculosis (B) Malaria (A) &3 T (B) HelfRam
(C) AIDS (D) Cancer (C) UgH (D) DR
40. What is the term for the process by which 40. I UfehdT & @7 ded © oD §RT Qj\&‘ﬁﬁ—d
microorganisms break down organic matter? DIETD qeTdl Bl Ared o7
(A) Decomposition (B) Fermentation (A) 3uEeH (B) fapoa
(C) Purification (D) Recomposition (C) asd (D) F’\Sﬂ:ﬂ
SPACE FORROUGH WORK
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41. Which of the rational numbers

11 -5 ,
— =, i, 29 is the greatest ?
28 7 -14 -42

=t .-
(A) 5z B) -
9 29

© =2 O =5
42. A number when added to its half gives 72 then the

number is —

(A) 84 (B) 48

(C) 90 (D) None of these
43. The number of sides of a regular polygon whose

each exterior angle has a measure of 20°.
(A) 8 (B) 18
(©) 10 (D) none of these.

44, In a garden 10% of the trees were uprooted due to
decay. 180 trees are left there, the total no. of trees

PART E - MATH’S

41.

42.

43.

44.

ST @ @ @ ofe wenr L 29

287 77 _14
2 ey g &2
-42 ’
-11 -5
A) S5 B) —
© —5 (D) ==

Td ST Bl SHSD 3T H Sied UR 72 UTd il
g I 98 W& ©§ —
(A) 84 (B) 48
(C) 90
v AT g @l Yoleil @ S fSrEe
URAd @l DIV BT A 20° 2|

(D) None of these

(A) 8 (B) 18

(©) 10 (D) none of these.

Uh T § TS B PRI 10% Us B9 TV | I8
180 U 9 B, ol AT, US! al |eedm g

arc :

(A) 170 (B) 190
(A) 170 (B) 190
(C) 200 (D) 210
(C) 200 (D) 210 45. v n faww wepfie e o1 A & —
45. Sum of the first n odd natural nu1211bers 1s — (A) 2n + 1 (B) n?
(A) 2n + 1 (B) n (C)n? — 1 (D) 2n% + 1
(C)n? -1 (D) 2n% + 1
46, AR x=(7+443) & A Vx +— B A A
46. IfX:(7+4\/§), then the vaue of \/;Jr% IS : v \/7) Vx
(A8 B)o6
(A8 B)o6
(C)5 (D) 4
(C)5 (D) 4
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47. The value of 3/_,3 . 3/_p3 is 47. 323 3 p? BTAM &

(A) a (B) b (A) a (B) b

(C) ab (D) None of these (C) ab (D) None of these
48. Mean is equal to : 48. AT 3D d_1E) o—

(A) 3 Median - Mode (A) 3 Median - Mode

(B) 3 Median - 2 Mode (B) 3 Median - 2 Mode

1 ) 1 .
©) E[SMedlan —Mode] ©) E[SMedlan —Mode]
1 ) 1 .
(D) 5[2 Median — Mode] (D) 5[2 Median — Mode]
2 2
49, The value of .+ 2 1S 49, Lrea BT A ©—
x+3 x+3

(A)x -3 B)x+3 (A)x-3 B)x+3

) x+3 D) x+4 (C)x+3 D) x+4
50. A factor of x3 — 1 is : 50. X — 1 & U@ PHES o

2

&) x -1 (E)) g - | (A x-1 (B) <2 +x + 1

C) Either A & B D) N f th

() Either (D) None of these (C) Either A & B (D) None of these
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PART F - SST

51. Which of the following is not an example of 51. fereforRaa # 9 @A a1 Sifas darRE! o
biotic resources ? JETERT TEI &7
(A) Plants (B) Aniamls (A) U (B) SR
(C) Human (D) Rocks (C) ArFa (D) g
52. The warrow zone of contact between the 52. WICTHS, Sardsd 3R agHsd & drd Hud
lithosphere, hydrosphere and atmosphere is T ARI &5 DEANT B..
called......
(A) Biosphere (A) SlaHsd
(B) Troposphere (B) &S
(C) Both (a) and (b) (C) T (a) 3R (b)
(D) None of the above (D) SURIH H ¥ BIs Tl
53, L. of the earth’s surface is covered with 53, L. Y] bl HeTs T MBI ANT YT Gebl
water. g3l 2l
(A) One - fourth (A) UH—daTs
(B) Three - fourth (B) d—dters
(C) Two - fourth (C) TI—dlers
(D) None of the above (D) SWRIH H ¥ BIs Aol
54. Which of the following factors affects the 54. frfarRad % & &9 |1 dRe STURT & U=
location of industries ? DI JATIIT BT 87
(A) Raw material (B) Labour (A) Pl Al (B) #H
(C) Market (D) All of the above (C) 9WR (D) SURKRH AT
55. Which of the following are the key features of 55. frferRaa § 9§ i IR |ide™ o 999
the indian constitution. faQeame 87
(A) Federalism (A) Hgdrg
(B) Parliamentary form of government (B) WRBR BT HHCRI WHY
(C) Separtation of powers (C) <IRAAT BT GAFHRUT
(D) All of the above (D) SURKRH AT
SPACE FORROUGH WORK
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56. ¢ There is no official religion of india’. It is 56. *YRA BT DIy IMEBING &H 981 & IT Bel
called...... ST ...
(A) Secularism (B) Equality (A) gHRUeTaT (B) AT
(C) Freedom (D) Socialism (C) = (D) \HISTdTS
57. The Lok sabha is usually elocted once every ... 57. Al |1 BT AT AR IR B ...q9 § U
years. IR BIAT 3 |
(A) 2 (B)7 (A) 2 B) 7
©)5 (D) 10 ©)5 (D) 10
58. In which city of india supreme court located ? 58. WA @ b 2R § Hatea Aoy RRerd 87
(A) New delhi (B) Jaipur (A) 78 feeeft (B) SR
(C) Bhopal (D) Patna (C) #uret (D) 9c1
9. deals with conduct or acts that law 59 U¥T 3TVl AT Pedi | Hefod 8 s
defines as offences. Ex - theft, murder ect. DI HURTI @ ®U H YRAIMYT Bl & | o F —
NI, BT A |
(A) Civil law (A) TR BT
(B) Criminal law (B) SaRTfee Ty
(C) Both (a) and (b) (C) T (A) 3R (B)
(D) None of the above (D) ST 7 I DI, el
60. Which are the major factors of soil erosian. 60. ST @ WE PRy BT W T7
(A) Parent rock (B) Relief (A) et FEH (B) red
(C) Climate (D) All of the above (C) Sferary (D) oI Tl
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